SBo == Fy 6000 >

2-stellige Multiplikation

Name:

80
x29

73
x96

93
x76

87
x77

83
x94

14
x31

60
x23

16
x30

89
x58

29
x34

Datum:

54
x85

97
x67

41
x17

44
x76

96
%30
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81
x73

96
x47

83
x83

18
x93

77
X63

Ergebnis:

42
x98

89
X65

81
x83

61
%38

88
X65
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BBo == Gy 600 =5 2-stellige Multiplikation

Name: Datum: Ergebnis:

80 14 54 81 42
x29 x31 x85 x73 x98
720 14 270 243 336
160_ 42_ 432_ 567_ 378_
2320 434 4590 5913 4116
73 60 97 96 89
x96 x23 x67 x47 X65
438 180 679 672 445
657_ 120 582 384 534_
7008 1380 6499 4512 5785
93 16 41 83 81
x76 %30 x17 x83 x83
558 -0 287 249 243
651 48 4 664_ 648_
7068 480 697 6889 6723
87 89 44 18 61
x77 x58 x76 x93 x38
609 712 264 54 488
609_ 445_ 308_ 162 183
6699 5162 3344 1674 2318
83 29 96 77 88
x94 x34 %30 xX63 X65
332 116 ) 231 440
747_ 87_ 288 462 528
7802 986 2880 4851 5720
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